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Submissions for

puzzle 12

ROMAN COOL-L-L



200 200 150 150 200 200

700

300

submitted by : rubben
S = 2100  K = 0
S + 150K = 2100

150 150

150

150

150

150

150

150

submitted by : kiwijam
S = 1200  K = 0
S + 150K = 1200

150 150

150

150

150

150

150

150

submitted by : Puzlifouk
S = 1200  K = 0
S + 150K = 1200

150 150 150 150 150 150

150

150

submitted by : SP1
S = 1200  K = 0
S + 150K = 1200

150 150 150 150 150

150

150

150

150

150

submitted by : jacoblance
S = 1500  K = 0
S + 150K = 1500

150 150 150 150

150

150

150

L

C

C

submitted by : Tomoaki
S = 1050  K = 3
S + 150K = 1500



150 150

150

150

150

150

C

C

C C L

submitted by : psl
S = 900  K = 5
S + 150K = 1650

150 150 150 150 150 150

150

150

150

150

150

150

submitted by : flk
S = 1800  K = 0
S + 150K = 1800

150 150 150

150

150

150

150

150

150L

L L

submitted by : Nikola
S = 1350  K = 3
S + 150K = 1800

150 150 150 150

150

0

0

0

0

0

150

0

0

L

C L

C

C L

submitted by : tarotaro
S = 900  K = 6
S + 150K = 1800

150 150

150

150

150

150

400

150

L

C

C

submitted by : deu
S = 1450  K = 3
S + 150K = 1900

200 200 200 200 200 200 200 200

L

C

submitted by : EKBM
S = 1600  K = 2
S + 150K = 1900



200

200

200

200

200

200

200

200

L

C

submitted by : lukasz6500
S = 1600  K = 2
S + 150K = 1900

150 150 150

150

150

150

150

150

150

L C

L

L

submitted by : chaotic_iak
S = 1350  K = 4
S + 150K = 1950

150 150 150 150 200 150

150

250

L L L

O

L

submitted by : auroux
S = 1350  K = 5
S + 150K = 2100

150 150 150 150

150

150

L

C C C

C C C

L

submitted by : Christian
S = 900  K = 8
S + 150K = 2100

150 150 150

150

150

150

L

L O

C

L

O L

L

submitted by : forcolin
S = 900  K = 8
S + 150K = 2100

150 150 150 150 150 150

L O L L

L L O L

submitted by : Hugo
S = 900  K = 8
S + 150K = 2100



150 200 200 150

150

150

150

200

200

150

L

C C

submitted by : jlmdlegrand
S = 1700  K = 3
S + 150K = 2150

150

150

150

150

150

150

150

C C C

L

L

L

L

L

L

submitted by : faustina
S = 1050  K = 9
S + 150K = 2400

150 150 150 150 150

150

150

150

150

150

150

O

L

C

L O

submitted by : martin
S = 1650  K = 5
S + 150K = 2400

200 150 150 200

200

150

300

300

150

200

L L

C

C

L L

submitted by : Mihalich
S = 2000  K = 6
S + 150K = 2900

150 150 150 150 150 150

150

150

150

150

150

150

C C C

C C C

C C C

submitted by : Cordelia
S = 1800  K = 9
S + 150K = 3150

150 150 150 150

150

300

150

550

150

300

150

L L

L L

C

L

L

L

C

L L

L L

submitted by : tiralmo
S = 2350  K = 13
S + 150K = 4300


